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, Question 1 0 ]
A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the
average went up by 2 yr. Find the actual average
age of the class.
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(DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED T0 DO S0)

Test Booklet Series | . T.B.C.:CSP-18i2
TEST BOOKLET
GENERAL sTUDiEs  S"No- 20038
PAPER - Il

| [Tihie Allowed : 2 Hours ] | (Maximum Marks : 200)

- INSTRUCTIONS TO CANDIDATES :

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD

*  CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING
PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET OF THE SAME SERIES ISSUED TOYOU. . : '

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, COR D,AS THE CASE MAY BE, IN THE
APPROPRIATE PLACES IN THE ANSWER SHEET USING BALLPOINT PEN (BLUE OR BLACK).

3. . You have to enter your Roll No. on the Test Booklet ;
_ in the Box provided alongside. DO NOT write [ TeChOfworld Id
anything else on the Test Booklet. - — -

4. YOU ARE REQUIRED TO FILL UP AND DARKEN ROLL NO,, TEST BOOKLET / QUESTION
'BOOKLET SERIES IN THE ANSWER SHEETS AS WELL AS FILL UP TEST BOOKLET /
QUESTION BOOKLET SERIES AND SERIAL NO. AND ANSWER SHEET SERIAL NO. IN THE
ATTENDANCE SHEETS CAREFULLY. WRONGLY FILLED'UP ANSWER SHEETS ARE LIABLE

- FORREJECTION AT THE RISK OF THE CANDIDATE, -

5. This Test Booklet contains 80 items (questions). Each item (question) comprises four
~ responses (answers). You have to select the correct resporise (answer) which you want
" to mark (darken) on the Answer Sheet. In case, you feel that there is more than one correct
response (answer), you should mark (darken) the response (answer) which you consider .
the best. In any case, choose ONLY ONE response (answer) for each item (question).

6. You have to mark (darken) all your responses (answers) ONLY on the separate Answer
Sheet provided by using BALL POINT PEN (BLUE OR BLACK). See instruictions inthe Answer
‘Sheet. ;
7. (i) All items (questions) carry equal marks. All items (questions) are compuisory. Your
total marks will depend only on the number of correct responses (answers) marked by
- you in the Answer Sheet. _ '

(ii) There will be negative markings for wrong answers. 25 (twenty five) percent of
marks allotted to a particular item (question) will be deducted as negative
- marking for every wrong response (answer). ,
(i) If candidates give more than one answer, it will be treated as a wrong answer
even if one of the given answers happens to be correct and there will be same
penalty as above to that item (question). '

8. Before you proceed to mark (darken) in the Answer Sheet the responses (answers) to
various items (questions) in the Test Booklet, you have to fill in some particulars in the
Answer Sheet as per the instructions sent to you with your Admission Certificate.

9. After you have completed filling in all your responses (answers) on the Answer Sheet and
after conclusion of the examination, you should hand over to the Invigilator the Answer
Sheetissued to you. You are allowed to take with you the candidate’s copy / second page
of the Answer Sheet along with the Test Booklet, after completion of the examination, for
your reference. ' - L -

10. Sheets for rough work are appendéd in the Test Booklet at the end.

[DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO]



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

Direction (Q. Nos. 1 to 10) : Read the
following two passages and answer the

questions that follow each passage. Your _'

‘answer to these quesnons should be

based on the passages only.

Passage -1
Iwas sitting nextto Miséy in my" ninth-grade
world histofy class when Mrs. Bartlett

announced a new project. In groups, we
were to create a newspaper around the

culture we were studying.

On a piece of paper, we wrote the names
of three-frlends we wanted in our group.
After collecting all the requests, Mrs. B
informed us that she would take into

consideration the names we chose and

would let us know the results the next day.

| had no doubt | would getthe group of my

choice. There were only a handful of
sobiably decent people in the class, and
Missy was '§ne of them. | knew we had
ch_c;sen eaéhl ;ither. |

" The next day,_ lanxiously awaited the class.
After the bell rang, Missy and | stopped
talking as Mrs. B called for our attention.
She started to call out names. When she
reached group three, Missy's name was
called. So I'm in group three, | thought. The
second, third é;nd fourth members of the
group were called. My name was not

included. There had to be some mistake |

Then | heard it. The last group : “Mauro,

~Juliette, Rachel, Karina.” | could feel the

~ tears wellin my eyes. How could that went

down to her ankles, and the other girl who

wore weird clothes. Oh, how badly | wanted

. tobe with my friends.

| fought back tears as | walked up to
Mrs. B. She looked at me and knew
what | was there for. | was d_et_errﬁined to
convince her | should be in the “good”
group. “Why... 7" | started ' )

She gently placed a hand on my shoulder

“I know what you want, Kanna she said,

“but your group needs you, | need you to

- help them get a passing grade on this

assignment. Only you can help them.”
| was stunned. | was humbled. | was

amazed. She had seen something in me

| hadn'tseen. - TeCh ofWOl‘ld An

“Will you help them ?" she asked.

- Istood straighter. “Yes,'; I replied. | could't

believe it came out of my mouth, butitdid.
| had committed. o
1. The new project was for
(A). Launching amagazine
(‘BI) Creating a newspaper for,
| culture | -
. (C) Announcing a new c:luiture‘

(D) Creating a newspaper for fun

WtsApp/Call- 8596976190
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:Mlssy was mc!uded in the group of :
(A) 'Mauro
~.(B). Karina .
(C) _Jdiiefte | _- o
(D). None ofthem
Karina did not.l’ike'her group
becauee: | o

(A The girl could n.ot speak English

(B) The boywas shabb!iy dressed =
(G}, She wanted to jom M:ssys :

. group

x (D) :_The other glrl used to wear

'mxnlsktrt

. Theteacher, Mrs. B put Karina in that

particular group b'e'c'euse Karina:

e (A) =$tarted crymg
5 (B)-' Wanted to be in anothergroup :

iy (C) Was confused [ |
(D). Could help the students in her

group
Karinawas stunned because :

A _Shewashurt :

| | Ieadershlp potentlal

(C) She could not}om the group of -,

her chmce

(D) She gotapassing grade -

: Pessage -1l

One miserable rainy ntght a man named

Mark demded to end h;s Iife in hIS mid-
fifties, Mark had never been marned had

never exper:enced the_ Joy of havmg

_ children or spending holidays with his

family. B"'oth"his parents had been dead for

seven years He had a S|ster but had lost -

- contact Wlth her He held a memal ]Ob that

left him unfulfllled._ Wet and unhappy, he

walked the streets "feeling as if there was

| wed or dled TeCh OfWO rld i

On that same soggy hight, ' | was sitting in

: rﬁy room wa'tching the rain hit my window. | -

was SIX years old; and my- life revo[ved
around my Star Wars action flgure
collectlon. lwas dreamlng ef the day when
I'd have earned enough money to add

Darth Vader to my new, collectors case. -
To help me make money, my father pald
me to jog wrth him. Everyday, at seven
, oc(ock we jogged together _

When | heard the doorbell rmg, Ijumped

from my chalr and raced out of myroomto

- thetop of the_ steps. My mother was already
o _et the door.

Ir

| And everyday, | was flfty cents closer to

- (B Herteacherhad |denufled her - getting Darth Vader.
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Opening it, she found herself face-to-face

with a very disheveled-looking man with .

~ tears streaming down his face. My mother,
overcome by pity, invited the man inside,
and he sat with my parents in our living
oom. - Techofworld.In

Curious, | snuck downstairs so that | could

geta better look. | couldn't understand what

they were saying, but the sight of the

- rumpled -man, holding his head ‘in his
hands and crying, made my chest ache. |
_ raced back upstairs to my room and stuck

my handiinto my money jar. Pulling out the

Kennedy half-dollar | had eamed thatday, |

ran back downstairs.

- When | reached the door of thé living room,'
| walked right in. The three ad ults looked
atmein surprise as I,quickly’ made my Way
- over to the stranger. | put the half-dollarin
his hand and told him that | wanted him to

have it. Then | gave him a hug and turned

_and ran as fast as | could out of the room

and back up the stairs. | felt embarrassed.

~ but happy.

Dowﬁstairs, Mark sat quietly with his head

bowed. Tears streamed down his faceas -

’he tiéhtiy clutched that ¢oin. Finally looking

“up at my parents, he said, “It's just that | -

thbug ht nobody cared. Forthe last twenty
years, | have been so alone. That was the

WtsApp/Call- 8596976190

first hug | have gotten in — | don’t khow
how long. It's hard to' believe that

- somebody cares.

6. Markwanted to end his life because : '

. (A) Hefeltextremely dejected
(B)' His parents had died b
“(C) He had only one sister
.(D)? HB'WaS]DbjIeSS 5

T ThatIitt[e,boy_wasfondof:- ol
(A) Watchiﬁg rain |
(B) DarthVaderfigure
(C) Money
(D). Jogging

8. Thevisitorwasa:

(A) Familyfiend '
(B). R.Ol::).ber. ' e BT
(C) Needy person

(D) Neighbour | -

9. Thelittle boy gave the \{_isjtpr- his.:

(A) Mongy

(B) Food

. (C) Toys
(D) Star War action figqfé'

-

10. Why did Mark cry ?
(A) ° Hewas in .phys_icél pain
(B) He had not eafen fordays.
(C) Hewas upmarrie'd

(D) He was greeted wi'(h love _aﬁd
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'Aleader has the ability to influence
. others through qualities such as

—, expertise,

command of language, and_ihe
creation of mutual respect — all of

.which require strong-interpersonal |
sl Techofworld.In -
- (A) aura . | -_
_ (B) ch_arisma
(C) elan .

(D) machismo |

12,

Interpergonal skills include ‘the -
ability to
~ the emotions, motivations, and. .

. behaviours of oneself and-other

during social interactions or in a
social-interactive context.

(A feel
(B) read

(C) suss

| (D) vigw

18,

 Those who have i nterpersonal skills
‘are ableto manag_é_their_ behaviour
| 'during social interactions and align
théir goals to the goals of others-

during - activities.

'(A_) cohesive

.(B) cbliaborétive

(C) collocational

(D) concessive |

and manage

WtsApp/Call- 8596976190

14. They are able'to empathize and are

15.

16.

sensitive to the needs of others and
e _theway
that others feel and behave. -

(A) bend -
(B) mar

(C) mend -
(D) shape

e to_thefprces that .

Modern teamwork often brings
_t_ogether individuals from diverse
groups who may not share common
norms, values, or ___________ but
who do offer unique expertise,
insights, and perspectives.

- (A) accommodations -

(B) cubicles

(C) sa_laries_ h

| (D) vocabularies

E-mail, voice mail, audio conferen-

.cing and video conferenbing, and the

myriad other technologies that
enable individuals to com mdnicate
with each other not only increase the
ways in which individuals can interact

but also require a heightened

Sensitivity 1o the e of

interpersonalinteractions.

(A) innuendos
(B) - naivete *

(C) nuances

(D) repaﬁee
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17.

18.

)

19,

~ detailed report.

(A
- (®)

©

. The challenge is to '

Download Tech Of World App

This idea is particularly true in the
_worlds of virtual learning and virtual
communication, where one cannot

yet use hand gestufes,_facial

expressions,orbody - __to

fully express ideas.
]angdagel |
movement
(C) poses |

positions

personal skills not only in face-to-face

interactions but in virtual interactions

aswel. Techofworld.In
@

perfect
(B)
(€)

perform
prodiice: |

project

As the police saw the accident |

themselves, the driver avoided the

of having to‘g'ivé a

(A) need

(B) reduirement.- o

'.(C) indictment

(D) necessity

inter- .

WtsApp/Call- 8596976190

20. It's a complete waste ofdltim'e

21;

22.

- (©)

" (C)
(D)

__over who was to blame,

the main thing we have tc; do is

decide what to do next.

(A)" arguing

(B) discussing

(C) repeating

(D) considering

It was easy to realise Why'_th'e
fnaé_:hine had stopped working since

it was a direct __________ of his

~ failure to maintain it.

(A)
(B)

Complement
‘Concern .
Consequence

©)

Conviction

| am completely confused as to why

she d id' it and s0 it's n‘of

‘°t_o' imagine why other people are .

mystffied ¥ too;
(A)
(B)

definite
difficult
debétable

decided”
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- 23.

24,

- 25.

I have great
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for them at

this time becaLiSe | have had a similar

26,

WtsApp/Call- 8596976190

Today is Varun’s birthday. One year
after, from today he will be twice as
old as he was 12 years ago. How old

experience. TeChOfWOI’|d InIsVarun today ?

(A) sincerity

(B) sympathy

'(C) sorrow

(D) N sadness

Many of the people in the crowd

~were visibly crying because they all |

WItH those who had lost

| rélatives in the disaster. |

(A) resented

(B) regretted

(C) rejoined

(D) | - sympathized

Atailor had a nuriiber of shirt pieces

to cut from a roll of fabric. He cut each.

T rollpfequél length into 10 pieces. He

- . cut at the rate of 45 cuts a minute..

How many rolls would be cut in 24

minutes ? ,

(A 32rolis

(B) 54rolls

~ © 108rolls

(D) 120rolis

(A) .20years '
(B) 22years

(C) 25years .

o (D) 27 years

2L

28.

Ayush was bo'rn two years after his
father’s marrlage His mother is five
years younger than his father but 20
years older than Ayush who is 10
years old. Atwhat age did the father

* get married ?.
(A) 23 years
(B) 25years

(C) 33years
(D) 35years

In .three ‘coloured .boxes — Red,

Green and Blue, 108 balls are

' placed. There are twice as many

balls in the green and red boxes

' con?ib_i_ned as there are in the blue box

and twice as many in the blue box as
there are in the red box.'How many

. balls are there in the green box ?

(A) 18

- (B) 36

(C) 45 :
(D) None ofthese
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30.

D)
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29. Ravi’s brother is*3 years senior to

him. His father was 28 yearé of age

when his sister was born while his

mother was 26 years of age when he

was born. If his sister was 4 years of

- were the ages of Ravi's father and

mother resp ectively when his brother

®)
©)

32 years, 29 years
35 years, 29 years -

35 years, 33 years

“Inaclass of 60. students, the number

of boys and girls participating in.the

-annual sports is in the ratio 3 : 2
respectwely The number of glrls not, -
. partlc:patmg in the spoﬁs is 5 more .

than the number of boys not

partlmpatmg in the sports. lf the

- age when his brother was born, what

32 years 23 years '

~

number of boys parllmpatlng in the -

thereinthe class ? -

(A) 20

(B 25

(C) 30.
‘D)

Data inadequate

. sportsis 15, then how many girls are -

31.

 was bom ? Techofworld ln ..
A

WtsApp/Call- 8596976190

If you write down all the _mjmb_gars

“from 1 to 100, then how many times

do you write 3 ?

(A 11
® 18

(C) 20 -

D)y 21

‘Choose the mlssmg term out of the

K3

| glven alternatives

D

33,

ADVENTURE
| DVENTUR, 2, VENTU,

_?(A)'

Q)

DVENTURE '

VENTURE -
(B) VENTUR
DVENT

DVENTU

_ 'How many pairs of letters ;in the word
‘CHAIRS’ have as many Ietters'-
' 'between lhem in the word asin the |

| alphabet? o

@ 2

- B 3

© 1
(0) 4
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34.-

- 35.

36.
. terms of an alphanumerical series '

_ (B) nw

Download Tech Of World App

Choose the mlssmg term out of lhe

gwen aiternatwes

ejo, tyd, ins, xch, ? 1
(A) . mw

(C) nsx

©) nsw

In the following question, various

.terms of an alphanumerical series
' are .given with one or more terms

'missi'ng as shown by (?). Choose the
missing term _'out of the given

‘-' alternatnves

3F, 66, 111, 18L, ?
A 27Q
(B) 27P
(C) 25N
(D) 210

In the following question, various

__are given with one or more terms

o missing as shown by (?). Choose the

“" missing term ‘out of the given

alternatives: - .
BMO, EOQ HQS ?-
(A) KSU

“(B) Sov

(C) SOW

/(D) LMN

37.

Tech ofworld.In ‘

38.

39.

C(A) X17M

WtsApp/Call- 8596976190

In the following question, various
terms of an alphanumerical_séries
are given with one or more terms
missing as shown by (?). Choose the

missing term out of the given

“alternatives

P3C, R5F, T8I, Vi2L, ?

(B) X160

(C) X170

(D) Y170

What will be the next term in the

following series ?

“BKS, DJT, FIU, HHY, __.
(A) -1UX

(®) IGX
() JGW
(D) JGU

In the following question, various

" terms of an alphabet series are given

with one or more terms missing as

shown by (?). Choose the missing
term out of the given. alternatives -
ABNCDOEFP,?,?,?

(A) GHQ

® JKL
(C) GHJ
(D) GH,|
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-D:recnon (Q Nos 40 to 44) : The 41. The imports. were minlmum

S roportionate to the ex orts of the
following line graph gives the-ratio of rhe PYop P 0
' 5o company inthe year :

amounts of impbrts by a compény to the

; (A) 1995
amount of_ e)::porfs f_mm _that co;??pany (B) 1996
over.the period from 1995 to 2001. o (©) 1997
Ratio of Value Oflm_ports to_ Exports by a - (D)- 2000 -
Company Overthe'Years: . 42 Whatwas__'the-pétbentage increase
| Techofworld In  inimports from 1997 to 1998 ?
g 1559 o '
e i — — o/ ! iRy
: FF= e
1.1 . : '/ : \\ // ' . ( )
09 Yoo DR i, ,‘( . 7‘0.35 '
S OBEZ N 7 : (C) 28 ,
e  A— e =
05 _ V (D) Datainadequate
o s ; P AT 43. Iftheimports of the company in 1996
1995 1996 199? 1998 1999 2000 2001 : e :
Yoars - : “was Rs. 272_crores_, the exports from -

the companyin 1996 was : _

40. Ifthe |mpo_ns‘ IQ 1998 was R;. 250 (A) Rs.370¢rores -

crores and the total exports in'the (B) Rs.320 ciores
years -1998 and 1999 tﬁgetﬁer was . "'(Q) Rs. 230 crores
Rs:. 500 érorés, then the i.mpons in o I(D.) Rs 275 crores
1999 was ;- | 44, Inhow man_y ofthe given years were

(Aj Rs. 250 crores. the exports more than the imports ?

F i @ 1
(B) Rs. 300 crores

- & : (B) 85
(C): Rs. 357 crores - v(©) 3

(D) Rs.420crores (D) 4
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Direction (Q. Nos. 45 tb 48) : A School has four Sections — A, B,_ C, D of Class IX
students. The results of half yearly and annual examinations are shoWn in the table

given below. | | ' TeCh OfWO I'|d » I N

Rt_asult _ ~ No. of students

Section —A Section - B | Section - C Section - D
Students failed in | | | | |
both the Exams. 28 - 28 17 27

Students failed in
 Half-yearly but
| passed in Annual _ ‘
Exams. 14 _ 12" 8 .13

‘Students passed in
Haif-yearly but failed |
in Annual Exams. | 6 17 9 | 15

' ‘Students passed in

both the Exams. | 64 55 46 76
- 45. Ifthe number of students paséing an (C) Both the examinations had
‘examination be considered a “almost the same diﬁiCliIty level.
criteria for comparison of difficulty - (D) The two examinations cannot
ie\(ell of two examinatidns, which of be compared fordifficulty level.

K® elegd Fatemenis i e Iy 46. How many students are there in

s | " Class X in the school ?
(A) Half yearly examinations were '(Aj 336
more difficult. - o _ B) 189
(B) Annual examinations were (©) 335

more difficult.

(D) 430



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

47. Which Section has the maximum 50.  Find outthe wrong term inthe series :

48.

49,

pass percentage in at least one of

the two examinatia_ns ?

“interchanged for making following

equation correct :

5+3%x8-12+4=3

" (A) +and—

(B) —andA
(C). +and x

(D) +andA

2,5, 10, 50, 500, 5000

o (A) 5000
(A) A Section
M (B) 500
(B) B Section
_ _ ©) 10
- (C) C Section =
(D) D Section.. el .
Techofworld.In = ‘
Which section has the maximum 2. - Find the missing number in the
success rate in annual exami- series :
nation ? 1,2, 3,10, 2, 9802
(A) A Section @ 9 '
(B) B Section o\
8) 199
(C) C Section -
| (©) 299
(D) D Section )
| | (D) 999
Find out the two signs to be -
52. Find the wrong number in the

series :

3,8, 15, 24, 34, 48. 63

(A) 15

- ® 24

(C) 34

(D) 48
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53.

54,
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Chocse the mlssmg terms out ofthe - I

given alternatwes

kZSWOTKQG??

. _'tsi?‘;N_ec. LR

© 00

®) DG

WtsApp/Call- 8596976190

'-.(B) UT

(C) BUT

L ser[es 1s gwen fn WhICh some !etters:__‘-'

In the following question, various

terms of an alphanumerical series

are given with one or more terms

mlssmg term out of the glven'_'

” aiternatwes T e Ch OfWO rl d I n(B)

__-'225 7Y7 14)(9 23W11 34\/13 ?

. (B) ATV

:(C) 45U15

: (A) 47u15

o) 27u24

- 55,

e AT‘TR!BUTION

o glven alternatives. i b’

A g RIBUTIO IBUTI

m|ssmg asshown by(?)rChoosethe Fos g e gt o s T

e b e

. gwen in the propersequence as'lo e-‘-'._"f
“of the alternatwes Choos the s

B correct a!ternatwe _

In the followmg questlon_a letteru__:"_

are mlssmg The missmg Ietters are__: e

T4

' '_Choose the m:ssmg term out of the

et glven alternatwes

'__.Choose the mlssmg term out of 1he-_"- i '
e ‘_(A) KOS

TTRIBUT!O B s
_(C) CGK

'-"ca) oK

"(B) NRV

DHL PTX BFJ ‘?
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' iram IS 62

- shown by (?)..Choose the missing

(A TS

Download Tech Of World App

In the following question, various .

terms of an alphabet series are given

“with one or more terms missing as

-teim out of the given alternatives :

 AZ,GT,MN,?,YB

(B) SH

L (© KF

TechoﬂNoHdIn

-The two tralns are running in same
| _‘ direction at 90 km/hr and 60 km/hr
- res'pé..cﬁtively The faster frafn crossed
o '_ : : ' a passenger s&tting in the sioWertram

in 27 seconds. The length of faster

 (A) 220meters

60.

. (B) 200meters
: -'(C)'_ 157 meters
(D) 225meters

A man can row a boat at 4.5 km/hr in

_still water to a certain upstrearﬁ point

- and can row back to the starting point

in a river flowing with 1.5 km/hr. The
average speed during the total

journey'is :

(A) 2.4km/hr

61.

WtsApp/Call- 8596976190

(B) 4kmihr

(©). 3.4kmihr

- (D) 3kmmr

There is aléakin the botiom of atank.
Before the leak, it could be filled in
four and half hours. After leak it takes

half an hour longer. If the tank is full,

‘the leakage willempty the tankin :

(A) 45 iﬂou rs

. (B) 25 hours

(C) 28hours

(D) 8hoirs

. A;B and C enterinto apartnership.

A invests 3 times as much as B

invests and B invests Itwo-third of

what Cinvests. At the end of the year

the profit earned is Rs. 6,600. The

:_sha_reo:fBis:h P

(A) Rs.2100
(B) ‘Rs. 1,200
(C) Rs. 1,500

(D) Rs.3,160



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

63 Simple mterest on a oertaln amount ‘
[is 9/16 of the prmclpai amount Ifthe -
number representing the rate of |

_ interest in percent and time in years

. be equal, then time for which the -

pnnoipal amount is Ient outis”
(A) 15years s ¥

(B) 7years "

(©) 15/2years -

(D) 15/4 years

question given be!ow ﬁes a pmb!em and .

two statements numbered (1) end (I giving - i

- certain mformat;on You have to dec:de" '

whether the data. prowded in the ..
‘ statements are ,s_uf_ﬁc;aent to solve the

- problem. Select the corect one out ofthe

four given alternatives —A, B, CandD

that is needed to answer the question.

| "64 Whatis the monthlysalaryofAIok? :
statements: | echofworld. In

_ (!) Alok gets 15% more than Sumit

. (C) Thedataeitherin 1) or (ll) alone

are sufficient to answer the

question

(D) .The 'data in both (1) and (1)

85,

together are sufficient to
answer the question _
Who is the immediate right of P
among the five persons P, Q, R S

, - andTfacing North ?
D:rectlon (Q. Nos 64 & 65) Each’

- Stateﬁ;ohts :

while Sumit gets 10% less than

Raman.

() Raman’s> monthiy salary is

Rs. 2,500. -

(A) The daté'lh'fl)' alon'e are-_:_.__' _
' suff:c;ent to answer the_.—_;

questnon

question .

. () Risthird to the leftof @ and Pis

second to the right of R.

E _(II)Qistothe |mmedtate left of T who

is second to the right of P.
(A) The data in (1) alone are
: sufficient while the data in_.(ltl)
aloﬁe'are not sufficient to
answer the question '
'_The.data ih (.!I') alone are
: sufficient whlle lhe data in (l)
“alone are not suffucuent to
| answer the question
(C) The data eitherin (1) or (Il) are
- sufficient to answer the

" question:

(—B) G i m""(-”) éione are::- ~." "~ (D) Thedatainboth (hand (1) are

sufflment to answer the -

si.:ffi'oi.ent_. to answer the

question
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. Direction (Q. Nos. 66 & 67).: Study the

fd!!o'w:‘ng line graph that shows =

E Human 'Resource Indices of an
organisation for the given years and

* answerthe questions.

2501

~ |e00}-

. [150
. J100
50

0 2003 2004 2005 2006 2007 2008 2009

‘110

66. The mdex in 2008 was what percent
ofthat in 2008 ? "

w100
) 150 |
ORI
D) 50
67. Whatis the a}i:;proxiﬁate ;g;[ué of the
averageindéx? l
(A) 130
{B) “150
_'(c)_ 100 3

(D) 140

WtsApp/Call- 8596976190

. Direction (Q. No. 68 & 69) : The

"foIIowmg line graph dfsplays Annual
"-D.'wdends offered by two compames _
“M and N over. different years. Study

- the graph carefully and-answer the

questions..

—¢—Company M —i—Company N

25
20 b AN

o %7;;4/ \\.\

5

. 2008 2009 2010 2011 2012 2013 2014 2015 2016

68 TS%gthlgIXt\é&Ogsd 3!5"300 in
. comp;nyN in 2011 After one yiaar
~ she tran_sferred the entire amount with
" dividend to company M in 2012 %or
~one year. 'WI.-\Ia't_.'amouht';'wilil-'; be

relceiﬂ'ed back by Swati 'Encludi-ng |
-dividend ?
; (A) Rs.49,000 .
() Rs. 49,980 |

(C) ‘Rs.48,300

(D) Rs. 49,563
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- 69. In the year 2014, Suraj 'inve_s't'edh.

'received--has'the 'arho__t'int been -

invested in CQmpahy M ? |
(A) 'Rs. 1,640m0l‘§":.'

(B) Rs. .1.6‘4I0 e

._ (C) ‘Rs. 1 ,_360 m-oré._._ o

(D) Rs.1680less .

- Diagram.reﬂebts expodé of te’a"énd. P,

. coffee (m tonnes} for the years 2010

| "unp!easant ones.
2017 2012 2013 and 2014 Refer the

_ dragram and jauns_wer fhe quest:ons.

| eo0

- 2010

011 2012 2013 - 2044

Teall [JCoffes

WtsApp/Call- 8596976190

'_ | :‘70 What was the pert;entégé increass in
' Re. 56,000 incompa'ny'N'.'H.me? o the export of tea in 2014from that in
more or less dividend wouldhe have - . s A0l '

® 40
(© 20

| © 35

_”mfééﬁdn (. Nos. 71 to"75) : Read the
w i _foﬂowmg passage and answer the given

| ._.__':quesffons TeCh OfWO rid.In

g 2, e 72 :-__'-"_l'rhere are_tw_o ancient evils thatsctence,
Direction (Q. No.'70) : The following B_ar "~ unwisely used, may intensify : they are
. &ranny and war But I am concerned now

",_rather with pleasant pOSSIbll!tlES than wath |

- L

Scrence can confer two Kinds of

,-'beneﬁts Itcan d|m[nrsh badthmgs and lt_

_ . . 525 ' can mcreasegoodthlngs Letus begmwnth
. qoo o ¥ —— ; S iy m..
208 |- ; - o __-theformer
| g e Al '{_.Sc_ience_ can abolish poverty and
200 b _qe9180 . ‘ol | F|. . ' _ . P
A5 | ' Il . excessive h0urs of Iabour In the earliest
100 -
human communlttes before agncuiture

3 ':-each human mdlwdual reqmred two or
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more square miles to sustain life. =~ - (C) The ability of science to
‘Subsistence was precarious and death © . diminishbadthings -
from starvation must haife_beénfrequent. ; (D), The ability of scnence to

| At that stage, men had the same-mixture Increase good thlngs

of misery and carefree'_enjoymént asstill 72 According to the ar,ticle human
‘makes up the lives of others animals. - beings can lessen the quantum of -

Agriculture was a technical advance labourif they went back o'

ofthe same kind of importance as attaches A Pre—agricultu redays

to modern méchine industry. Tﬁe'wayth'at |B) If 'they adopt ag-ricu[tural
 agriculture was used is an awful warning economy,

" to our age. It introduced slavery and ~ (C) Use the benefits of science
serfdom, human'_sacrifice, absolute, = wisely
monarchy and large wars. Instead-of .~ (D) Nohe‘ of the above

raisin thestandard of life, except for a tin : ' - -
s g_,- | ' p . Wt y 3. Whicf(l of the following statements’is
. governing.minority, it merely increased the - | R e 8
; _ true?
population. On the whole, it'probably it A T
L Sagle, o _ | (A) The condition of human beings
increased the sum of human misery Itis r _ b ‘
bk ' has beénreduced to the status
not possmle that mduslnahsm may take the

“samecaurse. Techofworld. In
71, Which of the following is NOT the

of animals during the modern

age of machine industry

o fbszs SFthe article ? (B) Industrialism introduces slavery
" A Tyranhyandwar- ~(C). Agriculture was 4 technical

- ‘ advancementupon industrialism
(B) Pleasant possibilities of : :p :

(D) N_ohe of the above

science
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74.. Agrarian economy increased the - " (D) Industrialism will lessen human

G

75,

A

®
©

(A)

®

- ©

| incfeas_;e the output- '

* sum of human misery because :

You have to indulge in the

practice of human sacrifice to

-It was not us_ed wisely
It resulted in population .

‘explosion

None of the above

‘Which of the following is NOT -

‘mentioned in the article 7

Human beings enjoyed the

same kind of pleasures and -

suffered the same kind of

" misery ke Mg 5O
‘pre-agrarian e_cono.my
Agr_i‘cult;Jre raised the standard-
of the life for“soﬁ:ie hums:m'_
-beings : |

Agrarian economy is more

scientifically advanced than

pre-agrarian economy

misery because it is
accompanied by demacratic

form of government

~ Techofworld.In

Direction (Q. Nos. 76 to 80) : Read the

following. passage and answer the.
| quesﬁbns'givén' below.
Hérnessing the immune system to fight

. cancer, long a medical dream, is

becoming a reality. Remarkable stories of

tumours melting away and terminal llness

goin'g into remissions that last years —
backed by solid data — have led to an -
explosion of interest and billions of dollars

of investments in the rapidly gtowing ﬁ_eld

of immunotherapy. Pharmaceutical

firms, 'phiianthrop_ists'and the U. S.

government’s “cancer moonshot”
- program -are pouring money into

developing treatments. ‘M'e'dlc'al. '

* “*conferences on the topics are packed.
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Hundreds of clinical trials involving
immunotherapy, alone or combined with

other treatnients, are underway _forr_rea[{y'-’

every type of cancer

The immune system —a network of -

cells, tissues and brochemr_cals _they_.

cancer often finds ways to'-'hid‘e frorn' th'e'-_" o
immune system or blocks its abllrty to fight.
lmmunctherapy trres to help the im mune":

| 'system to recognrze cancer as a threat,
and at_tack__rt. A widely used type. _of
immunotherapy ihyolves _druQs' that '_free_:'”' e
_immune cells to‘frgh_t cancer by-blcckir_rg: a_._. .
mechanism —called a'check.porht é-that L =
_cancer uses to shut down the |mmune.-.
system These drugs called checkpornt: W
| |nh|brtors, have. been approved by the_ i
Food and Drug Adh\in'istration to. treat | i
advanced m'elanorna_, Hodgkinlynﬁrphc'me
and cancers of theﬁluhg. kidney _a'nd__-‘ k!
bladder.' More drcgs inthis class arein t.h'e"_‘_'

| p'.ipeti'ne._ Patients are élamddrihg for.

'checkpclint drugs, including one','Keytrude,_'._

WtsApp/Call- 8596976190

known tri 'r'rra'ny as “that Jimmy 'C arterdrug”.

whlch combmed W|th surgery and

" radiatron has teftthe fonnerPresrdentwrth
-_'no.. S|gn of recurrence even thcugh '.

'melanoma had spread to h|s Iwer and -

'-fbra'n Techofworld In

secrete — defends the body against "

vircses, bacteri i) other iriva d'e{-s; But 76 Whrch ofthefollowmg statements is

‘_true ? /

(Aj _:":tiartcer.-is e \rery dan_gerccs
: '_i‘_"diseas_e- b_e_cec.se it does not.
spare ‘even a very, powerful
g 'hersorr Iike Jimmy Carter the
i former Presrdentofthe United

| _-States |
L (I"3')' ‘Thereis impro'\remertt in cancer
v .ftreatment because bllllcns of :
. 7 ;_.dollars are being poured |nto

res_earch |

(©) I me!ehcrria'sr)reads_to liver
| and "b'r.air_fr', there witl‘be no

 recurrence of cancer

- (D) .__'Nene_oftheabcve
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i

78,

s .(B)_ - Thename ofa 'd_rug thatis used

> (D) None of the above

’ popular because

(C) Food and Drug Admmlstrallon ‘ _:'

Download Tech Of World App ~ WtsApp/Call- 8596976190

Checkpoint_'drugs have beoo_rhe very _ 79

(A) They nulllfy cancer S attemptto. .
‘shut down the immine syster ) :

'(B) You do not have to suffer th_e'--
- pain of surgery and radiation -

dunng treatment

has approved its use T

_ .(D) Noneoftheabove o 80

“eyisda's: Techofworld In
"""'(A) ‘A particular type of disease

' -'-_-w_nt_h which Jimmy- Carter was :

-suffering from "

to treat cancer patienls 2

(C) Another version of Hodgkin

" lymphoma

Immunolherapy

(A)

Marks the end of human.
dependence on drugs during

. ST «cancer treatment

®

Augments the'ability of humaﬁ.

' |mmune system to fi ght cancer

B -cells

©

Creates checkpoints agalnst

. cancercells

: '.(D)

None ofthe ab&ve

‘Cancer moonshot program :

A

(©)

s a phllanthroplc initiative- by'

- US government

__ls spons’ored by pharma-.

_ceu_tlca[ firms to hold medical

- conferences on immuno-
therapy

Channelizes resources. into

_researchonthe 'development of

 cancer treatment’ through

' lmmunolherapy

- None of the __al_aove,. &



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu



